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639 +
280 +
852 +
950 +
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900

copyright:

O 9 D O 9 W

DOWN

© o kW

10.
11.

756 -
642 =
144 -
369 -
812 =
872 -
848 -
999 -

www.mathinenglish.com

NN \O R O R N e <R \O B O

13.
14.
16.
17.
18.
20.
22.

800 =
707 =
655 =
666 -
800 =
369 -
728 =

co O N W w; 39 B~



S
S

@) JAVSJIE EN

12.
14.

S b=

200 = 8
990 = 3
252 = 9
723 = 3
700 = 5
928 + 4
144 = 9
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912 = 8
639 = 3
280 = 7
852 + 6
950 = 5
882 + 7
900 ~ 9

DOWN

. 756 = 3
3. 642 + 2
4. 144 = 8
5. 369 + 9
6. 812 = 4
8. 872 + 2
10. 848 = 2
11. 999 =9

copyright: www.mathinenglish.com

13.
14.
16.
17.
18.
20.
22.

800 +~ 4
707 =7
655 = 5
666 +~ 3
800 + 2
369 ~ 9
728 + 8



